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A.2000

B. 2500

C. 2300

D.2025

E. None of these

Question 1- Population of a town in 2022 was 6000. It increased by 20% in 

2023 as compare to previous year and decreased by 10% in 2024 as 

compare to previous year. If the ratio of male to female in 2024 is 11:5 

then find number of female in 2024.

प्रश्न 1- 2022 में एक शहर की जनसंख्या 6000 थी। पिछले वर्ष की तलुना में 2023 में इसमें 

20% की वपृि हुई और पिछले वर्ष की तलुना में 2024 में 10% की कमी आई। यपि 2024 

में िरुुर् और मपहला का अनिुात 11:5 ह,ै तो 2024 में मपहलाओ ंकी संख्या ्ात कीपजये।
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A.1032

B. 2032

C. 4032

D.2343

E. None of these

Question 2- 16,800 applied for an exam. Out of total applied 40% 

appeared for exam and out of appeared student 60% cleared the exam. 

Find the number of students who cleared the exam.

प्रश्न 2- 16,800 ने एक िरीक्षा के पलए आवेिन पकया। कुल आवेिन में से 40% िरीक्षा के 

पलए उिपथथत हुए और उिपथथत छात्रों में से 60% ने िरीक्षा उत्तीर्ष की। िरीक्षा उत्तीर्ष करने 

वाले छात्रों की संख्या ्ात कीपजये।
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A.30

B. 10

C. 40

D.20

E. None of these

Question 3- The sum of two number is 480. The sum of 20% of first 

number and 50% of second number is 120. Find the square root of bigger 

number.

प्रश्न 3- िो संख्याओ ंका योग 480 ह।ै िहली संख्या के 20% और िसूरी संख्या के 50% का 

योग 120 ह।ै बडी संख्या का वगष मलू ्ात कीपजए।
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A.1000

B. 2000

C. 2200

D.3400

E. None of these

Question 4- In a city 30% of the total number of population are female and 

rest are male. 80% of the total number of male cast there votes in a city 

election. Out of which 25% votes declared invalid. If the number of valid 

votes are 840. Then find population of city.

एक शहर में कुल जनसंख्या का 30% मपहलाएं हैं और शेर् िरुुर् हैं। एक शहर के चनुाव में 

मतिान करने वाले िरुुर्ों की कुल संख्या का 80% मतिान करता ह।ै पजसमें से 25% वोट 

अवैध घोपर्त पकए गए। यपि वैध मतों की संख्या 840 ह।ै तो शहर की जनसंख्या ्ात 

कीपजये।
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A.20%

B. 80%

C. 40%

D.70%

Question 5- The cost of table is increased by 20% over that of the last

year. Last year a Table costed Rs.20 and a Chair costed Rs.10. This year it

costs Rs.10 more to buy 10 Table and 6 Chair. Find the percentage

decrease in the price of the Chair..

प्रश्न 5- टेबल की लागत पिछले वर्ष की तलुना में 20% बढ़ जाती ह।ै पिछले वर्ष एक मेज की 

कीमत 10 रुिये और एक कुसी की कीमत 5 रुिये थी। इस वर्ष 5 टेबल और 3 चेयर खरीिने 

के पलए 10 रुिये अपधक खचष करने िडते हैं। कुसी के मलू्य में प्रपतशत वपृि ्ात कीपजए।
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A.20

B. 30

C. 50

D.40

E. None of these

Question 6- 400 books were distributed equally among children in such a 

way that the number of books received by each child is 25% of the total 

number of children. How many books did each child receive? 

प्रश्न 6- 400 िथुतकों को बच्चों के बीच समान रूि से इस प्रकार पवतररत पकया गया पक 

प्रत्येक बच्चे द्वारा प्राप्त िथुतकों की संख्या बच्चों की कुल संख्या का 25% ह।ै प्रत्यके बच्चे 

को पकतनी पकताबें पमलीं?
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A.35.4%

B. 26.9%

C. 15.7%

D.8.9%

E. None of these

Question 7- One type of liquid contains 25% water and the second type of 

liquid contains 30% water. A glass filled with 16 parts of the first liquid 

and 10 parts of the second liquid. The water percentage  in the new 

mixture is

प्रश्न 7- एक प्रकार के तरल में 25% िानी ह ैऔर िसूरे प्रकार के तरल में 30% िानी ह।ै िहले 

तरल के 16 भागों और िसूरे तरल के 10 भागों से भरा एक पगलास। नए पमश्रर् में िानी का 

प्रपतशत क्या ह?ै





https://t.me/mathbytarunsirmepl

A.8100

B. 9100

C. 1010

D.7100

E. None of these

Question 8- The population of a town increased with rate of 20% in 

previous three years. If present population is 21600 then find increase in 

population.

प्रश्न 8- पिछले तीन वर्ों में एक शहर की जनसंख्या में 20% की िर से वपृि हुई ह।ै यपि 

वतषमान जनसंख्या 21600 ह ैतो जनसंख्या में वपृि ्ात कीपजए।
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A.1350

B. 900

C. 1340

D.800

E. None of these

Question 9- In an election the votes between the winner and loser candidate 

are in the ratio 5:1. If total number of eligible voters are 2000, out of which 

10% did not cast their vote and among the remaining vote 10% declared 

invalid. What is the number of votes the winner candidate get? 

प्रश्न 9- एक चनुाव में पवजेता और हारने वाले उम्मीिवार के बीच के मतों का अनिुात 5:1 ह।ै 

यपि िात्र मतिाताओ ंकी कुल संख्या 2000 ह,ै पजनमें से 10% ने अिना वोट नहीं डाला और 

शेर् वोट में से 10% को अवैध घोपर्त कर पिया गया। पवजेता उम्मीिवार को पकतने वोट पमलते 

हैं?
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A.1/5

B. 3/10

C. 4/5

D.7/10

E. None of these

Question 10- A bucket is filled with water such that the weight of 

bucket alone is 20% its weight when it is filled with water. Now some 

of the water is removed from the bucket and now the weight of bucket 

along with remaining water is 50% of the original total weight. What 

part of the water was removed from the bucket? 

प्रश्न 10- एक बाल्टी को िानी से इस प्रकार भरा जाता ह ैपक जब बाल्टी को िानी से भरा

जाता ह ैतो उसका वजन उसके वजन का 20% होता ह।ै अब बाल्टी से कुछ िानी पनकाल 

पिया जाता ह ैऔर अब शेर् िानी के साथ बाल्टी का वजन मलू कुल वजन का 50% ह।ै 

बाल्टी से िानी का पकतना पहथसा पनकाला गया था?
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A.4000

B. 2000

C. 3000

D.1200

E. None of these

Question 11- There are 10000 male and female in a group. It was found 

that the number of male and female increased by 10% and 15% 

respectively making the total  strength as 11200. Find the number of 

female originally in the group.

प्रश्न 11- एक समहू में 10000 िरुुर् और मपहला हैं। यह िाया गया पक िरुुर् और मपहला 

की संख्या में क्रमशः 10% और 15% की वपृि हुई, पजससे कुल संख्या 11200 हो गई। 

मलू रूि से समहू में मपहलाओ ंकी संख्या ्ात कीपजये
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A.40

B. 50

C. 90

D.70

E. None of these

Question 12- The sum of male and female in a group is 150. If the 

number of male be x then the number of female is x% of total strength. 

Find the number of male.

प्रश्न 12- एक समहू में िरुुर् और मपहला का योग 150 ह।ै यपि िरुुर् की संख्या x ह ैतो 

मपहलाओ ंकी संख्या कुल संख्या का x% ह।ै िरुुर्ों की संख्या ्ात कीपजए।
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A.Rs 7/kg

B. Rs 6/kg

C. Rs 18/kg

D.Rs 8/kg

E. None of these

Question 13- The price of sugar is increased by 20%. Now a person 

can buy 5 kg less sugar for Rs 240. Find the original price per kg? 

प्रश्न 13- चीनी की कीमत में 20% की वपृि हुई ह।ै अब एक व्यपि 240 रुिये में 5 

पकलो कम चीनी खरीि सकता ह।ै प्रपत पकग्रा वाथतपवक मलू्य ्ात कीपजये?
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A.Rs 7/kg

B. Rs 6/kg

C. Rs 18/kg

D.Rs 8/kg

E. None of these

Question 14- In an election two candidate participated. In which 

10% of voters did not cast there votes. The winner gets 80% of the 

total votes and he wins by 1200 votes. Find total number of votes.

प्रश्न 14- एक चनुाव में िो उम्मीिवारों ने भाग पलया। पजसमें 10% मतिाताओ ंने वोट 

नहीं डाला। पवजेता को कुल वोटों का 80% पमलता है और वह 1200 वोटों से 

जीतता ह।ै वोटों की कुल संख्या ्ात कीपजये।





https://t.me/mathbytarunsirmepl

A.33%

B. 30%

C. 29%

D.43%

E. None of these

Question 15- Ajay scores 25% marks then he fails by 210 marks. If 

he scores 55% marks then he gets 240 more marks than the passing 

marks. Find the pass percentage.

प्रश्न 15- अजय 25% अंक प्राप्त करता ह ैतो वह 210 अंकों से फेल हो जाता ह।ै यपि 

वह 55% अंक प्राप्त करता ह ैतो उसे उत्तीर्ष अंकों से 240 अपधक अंक प्राप्त होते हैं। 

उत्तीर्ष प्रपतशत ्ात कीपजये।
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